TPS63070 data

g

1 iy FLOED
W8~ Tepjurde ZLvT o,
TRy |
O1 1A s
£TSD
- ) croeo
mpu~oopjurdz 250 -
||
« || 13
ZTSO
» = 2TPZD
B~ T <Az 2AEE -
| |
|
Z8¥D
—
ST/T a ALV
fa 09t 9T/T O AE'E
e\ /\ TANT T\ —
ELbY vLVY 00GY
A g ot
|
c T
08P

zroz _sz=:H
Ad L
o | —
SL¥D

—

/

9T/T AOT &
r\., )._ T = m.:h
06¥d =

+VUNREG

77

GND



Normal

+6_5VRUN

+VUNREG

LENS PWON_6_5V
Load EN

ek HjonP

=4T

Enable is High.
Voltage rises 5V,
No voltage drop occurs when

load current is 200~300mA.

By

Chil 500V ®&Ch2[ 1.00V &MI1.00ms A Ch2 & 1.90V
EE 1.00V &cChd] T.00V &
W|29.60 %

cha HIGH
6.48 V

Ch1 . HIGH

121V

3.26V

Ch3. HIGH

3.26V
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Tkt |
The voltage dicrease when EN is Low.
: Ch4 HIGH
. 6G.56 WV
. cny, HIGH
121 ¥
Ch2 HIGH
e HIGH
B} e Ga2v
RS 88 v Neha T o0V SN 605 Al ChE 7180V
EE 1.00V &Ch4 1.00V & 7 Mar 2017
17:10:55



Abnormal

N E—— After a certain period of time,
ﬁ “ | Thelc does not respond when EN is High.
<8 5VRUN DI e
cha HIGH
140mv
e HIGH
121V
+VUNREG
+H Ch2 HIGH
T T T e o T T T T e T . 3-2GL"
; : : ' i i : : : HIGH
LENS PWON.B5V e o e memmimmee s smmesesrmeommtms (13 : ,
Load EN - S B I Despite EN is Low,
o 1 1 I 1 O S | I T | Output voltage rises slowly,
Chi| 5.00V W&Chz 1.00YV 4M10.0ms A Ch2 S 1.54V Tek (Z1E .-
G 1.00V Wchd 1.00V & | 7 Mar 2017 The voltage stabilizes at a lower value than
20.40 % 17:40:03 : 65V and 62V
- - Ch4 . HIGH
L S 1 P 1) 2.76 V
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Abnormal

+6_5VRUN

+VUNREG

LENS PWON_8_5V
Load EN

EN is Low.But voltage is output.

Ch1l 5.00%¥ ®Ch2 1.00V &5M20.0ms A Ch2 & 1.8B2V
1.00V ®WChd 1.00V &
11/29.60 %

chsHIGH
6.16V

ch1 HIGH
12.2v

chz HIGH

s0.0mv

chy HIGH
120mv

7 Mar 2017
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Output voltage drops when
load(200~300mA) is ON.

When Load(200~300mA) is
OFF,voltage rises despite
EN is low.

cha HIGH

6.06 vV

ch1 HIGH
4V
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chz HIGH
3.30v

chz HIGH
3.28V
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WM20.0ms A Ch2 & 1.82V

1129.60 %
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